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Ve AL RN

EFRAS R RS
2021 45 H
YE& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.008 - 0.054 0.025 &
LA i 1.512 0.006 - 0.297 0.072 =
/L4, (HCI) 4,545 0.008 - 0.318 0.150 =
mIbE (HF) 0.306 0.006 - 0.099 0.022 s
— &b (SO2) 15.147 0.001 - 7.077 2.187 =
—4&bi% (CO) 7.578 0.002 - 0.213 0.088 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.871 - 9.849 1.965 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.019 - 0.030 0.025 &
LA 0.756 0.014 - 0.110 0.071 =
Z/LE (HCI) 0.756 0.103 - 0.191 0.150 s
wAbE (HF) 0.072 0.013 - 0.031 0.022 s
— &b (SO2) 3.789 1.768 - 2.464 2.186 =
—&Ei% (CO) 3.789 0.049 - 0.154 0.088 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.144 - 5.688 1.975 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
IR R g ) 7.575 x 10°° <5.995 x 1020 &




Ve AL RN

EFRAS R RS
2021 45 H
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.015 0.006 &
LA i 1.512 0.007 - 0.267 0.053 =
/L4, (HCI) 4.545 0.004 - 0.317 0.184 =
mIbE (HF) 0.306 0.004 - 0.091 0.037 =
— &b (SO2) 15.147 0.001 - 8.741 2.334 =
—4& kbR (CO) 7.578 0.001 - 0.164 0.055 =
FALY) (NOx)
PL=&dE%E (NO2) 30.303 0.303 - 10.452 1.818 =
EFE
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.005 - 0.007 0.006 &
LA 0.756 0.024 - 0.093 0.054 =
#F/bE (HCI) 0.756 0.131-0.236 0.184 s
wAbE (HF) 0.072 0.027 - 0.049 0.038 s
—&AbiR (SO2) 3.789 1.939 - 2.788 2.334 =
—&Ei% (CO) 3.789 0.013 - 0.108 0.056 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.645 - 5.282 1.849 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0015 =
R A 0.0378 <0.0067 &
IR R g ) 7.575 x 107 <7.481 x 1010 =




Ve AL RN

EFRAS R RS
2021 45 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.054 0.005 &
LA i 1.512 0.020 - 0.152 0.070 =
/L4, (HCI) 4,545 0.002 - 0.113 0.075 =
mIbE (HF) 0.306 0.006 - 0.059 0.030 s
— &b (SO2) 15.147 0.183-3.114 1.888 =
—4&bi% (CO) 7.578 0.014 - 0.277 0.111 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.060 - 10.322 1.783 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.003 - 0.007 0.005 &
LA 0.756 0.051 - 0.090 0.066 =
/L4, (HCD 0.756 0.038 - 0.088 0.071 =
wAbE (HF) 0.072 0.023 - 0.039 0.030 s
— &b (SO2) 3.789 1.709 - 2.161 1.912 =
—&Ei% (CO) 3.789 0.093 - 0.154 0.113 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.336 - 4.451 2.134 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0053 &
IR R g ) 7.575x 10°° <5.944 x 1010 =




Ve AL RN

EFRAS R RS
2021 45 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.066 0.008 &
LA i 1.512 0.019 - 0.288 0.064 =
/L4, (HCI) 4.545 0.002 - 0.146 0.091 =
mIbE (HF) 0.306 0.000 - 0.067 0.024 =
— &b (SO2) 15.147 0.000 - 6.689 1.927 =
—4&bi% (CO) 7.578 0.024 - 0.192 0.115 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.822 - 10.907 1.708 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.004 - 0.033 0.008 &
LA 0.756 0.034-0.110 0.064 =
Z/LE (HCI) 0.756 0.021 - 0.132 0.089 s
wAbE (HF) 0.072 0.015 - 0.038 0.023 s
&R (SO2) 3.789 1.370 - 2.146 1.930 =
—&Ei% (CO) 3.789 0.088 - 0.156 0.114 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.066 - 5.107 1.813 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.005 &
IR R g ) 7.575 x 10°° <5.523 x 1020 &
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